SEHEHFA A LOEE
201244 H 17 H

) F=x
ST ZEIERCH T HZEHEAEFIEHRYE. EHERICNZ . BB -HEBER. 555FERICL>THif
BIN TS (TEE-FEERBRIOULTIE, EHERDHA) .
BFMIZIZUTDESY,
FEGREHIEY = [Rie8 — (FE-EA 9S85 5 5 FEHN

(@ ARYOI74IL
FRLTLBRARYIT7AILDRKITILUTDESY,

series{ dat =2005.1
span = (2005.1,2011.12)
decimas=1}
tranform{ function=log}
aima{ modd =(210)(011)}
regresson{ variables= (tdlnolpyeer Ipyear) — - TEERIBHDISE(L regression D{ 1 ZEHIER
save=(td hal)
user = (jap-hol)
usertype = holiday
dart =2005.1
file =" X00000OXXXNNKXX” }
forecast { maxlead=12}
edimate{ save=(mdl)
maxiter =500}
x11{ print = (hone+ d10 + d11 + d16)
save=(d10d11 d16)
seasondma= x11default }

(3) FEMEHFDER

Fr2441 AUBROFEEHIE. BEFHAEAREIRAL TV D, BIAMICIE, FR23FDFHTERE
BWALTLS,

CHITHL, BER-BIRB - 555F T, BEARERST . LEEQTHEISN =/ \SA—2ENL T —H
HEELTRIALTLS,



(4) EEENE
FR23FERMHIEICHE LT, ERENMRHSN = RSIEEREBUEEITOIAZR. FRIILUTDESY,

2 F & W EEEER AEBER

¥ E TC 2011 03

H TC 2011 03

fln. T % B # TC 2011 03
' & AO 2011 05

T EXE TC 2011 04

REIXB® XE - TC 201103
X E B N B ¥ W= AO 2011 04
ATASERE TC 2011 03

WEIEZELEETFTAEHR LHRA TC 2011 04
FARA AO 2011 05

HIZKY FR23FEDFRMIETIEELT=(2) DARYIIF7AILIELUTDESY,
<IIFEHLEEDHZES>
regresson{ variables= (td1nal pyear Ipyear tc2011.3)

(5) MEBEHDITNZDUNT

X-12-ARIMA [ZH T BRE DB (QDARYIIT7AILDEERT file="XXX--" DEF)IZDLTIE AT
DELY,

EEIRMGTEORRER (7TERB) (2D T 1 AND128Z 4. BF. FR(AEANSEIER) AHAIC
HAHR(A)EHA . RIZZO7TERDFIEB)EKSH . FEDZTDHD BE(A) MSFHEB) ZZELSIL
=% X-12-ARIMA 125z T 3,

CCTULSRHABIR, UTDESY,

B, RADR, B2EREZH. Eo0H. B0 B, ELLER. AEYDOR, CELDAR. BDAH.
HEOB. MADOB. FEDR., XIED R, HFEHDH . REAEHETN TN OIRENRR

BE. FR2FERMBIE THEALEZABIL. LT EEY,

18 2R 3A 4R 5A 6A 7R 8H 9A 10AR 118 128
20054F -0.714286  0.142857  0.000000  0.142857  0.285714 0.000000 0.000000 0.000000  0.000000 0.000000  0.142857  0.142857
20064F 0.285714 -0.857143  0.000000 -0.857143  0.285714 0.000000 0.000000 0.000000 -1.000000 0.000000  0.142857 -0.857143
20074F 0.285714  0.142857  0.000000  0.142857 -0.714286 0.000000 0.000000 0.000000  0.000000 0.000000 -0.857143  0.142857
20084F 0.285714  0.142857  0.000000  0.142857 -0.714286 0.000000 0.000000 0.000000  0.000000 ~0.000000  0.142857  0.142857
20094F 0285714  0.142857  0.000000  0.142857  0.285714 0.000000 0.000000 0.000000  1.000000 = 0.000000  0.142857  0.142857
20104F 0285714  0.142857  0.000000  0.142857  0.285714 0.000000 0.000000 0.000000  0.000000 0.000000  0.142857  0.142857
20114F -0.714286  0.142857  0.000000  0.142857  0.285714 0.000000 0.000000 0.000000  0.000000 0.000000  0.142857  0.142857

201 24F (1 #1) 0285714 -0.857143  0.000000  0.142857 -0.714286 0.000000 0.000000 0.000000 -1.000000 0.000000 -0.857143  0.142857
20134F (1 #1) 0.285714  0.142857  0.000000  0.142857 -0.714286 0.000000 0.000000 0.000000 0.000000 0.000000 -0.857143  0.142857



